
1

Mean b = 0.1

Mean a = 4.94

2

Mean b = -0.12

Mean a = 3.21

3

Mean b = 0.06

Mean a = 7.96

4

Mean b = 0.07

Mean a = 6.3

5

Mean b = -0.01

Mean a = 3.23

6

Mean b = -0.05

Mean a = 3.59

7

Mean b = 0.52

Mean a = 5.87

8

Mean b = -0.19

Mean a = 3.47

9

Mean b = 0.39

Mean a = 3.33

10

Mean b = 0.02

Mean a = 6.71

11

Mean b = 0.43

Mean a = 5.72

12

Mean b = 0.21

Mean a = 7.35

13

Mean b = 0.52

Mean a = 5.33

14

Mean b = 0.57

Mean a = 4.47

15

Mean b = 0.01

Mean a = 4.07

16

Mean b = 0.31

Mean a = 2.1


